2. Assume that Tau is statically scoped, and we have the following Tau program.
main() is the entry point into the program.

void main() { 7_
intx=3; inty=2; intz=1;
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g(2); \
print "f:", x+y+z;
} e
void g(int@)/{
X = x*2;
print "g:", x+y+z ;
H
y=x+10;
fy);

print "main:”, x+y+z;

}

"print" displays its parameters, and then a new line. What is the output of the program if
Tau uses the

a) By-value parameter passing mechanism ? (6 pts)
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b) By-reference parameter passing mechanism ? (6 pts)
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c) By-valué-result parameter passing mechanism ? (6 pts)
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